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west point of the conductor and the
(06 Marks)

&ilfrodule-1
#

An overhead line over a hi Trrith a gradient of I in S iS supported by two 40 m towers.
The horizontal distance towers is 300 m. ight of the conductor 1.5 kg/m and
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the tension is 1500
ground.

2 a. Discuss tho*rpffiies of transmission li$#i,sqbnductors. (04 Marks)
b. Obtain t4q*e\iression for sag in overhtiad line conductor supported at different levels of

L^;-L+ "* W .SheightffiW
c. A 3pftipsWoverhead transmi

potffi$ls across top and midd

lelgnt.d& * d* * (06 Marks)
A 3ffisWoverhead transmissfoffiry4fore is being supffigd by three disc insulator. The
rotffiiEls across top and middl@ifs are 9 KV and lffi respectively. Calculate:
i) The ratio of capacitance bplvffien pin and earffit$mfflf capacitancffieach unit
ii) The line voltage \ ,*3d"3 * ,^ry
iii) String efficien-cy ,-tr ffi* W* (06 Marks)

W" ffimilw . d*trffi*,*d
.d Moffiler2

3 a. Explain the tenqfo[f GMD und -ufrul@ dkdv- (04 Marks)
b. The three corgffirs of 3-phase ligfhrp"hrranged at the tlimde corners of a triangle of sides

2n:. 2.5m anifd.Sm Calculate ttffiintuctance perakndof the line when conductors are
regularllqtra$sposed. The diarqqerffieach line condgdtors are 1.24 crn (06 Marks)

c. Deriffixpression for indu&ad'ce of a single ffitine. (06 Marks)W *Wm oR,q **

4 a. ,W$r a short note on t$p}t$Hsitio, ortril$@ion lines. (04 Marks)
pffisingle phase offiad hne 30 km lffi"consists of two parallel wires each 5 mm in
ffidiameter and l.ffWnyart. If the luqe vgltage be 50 KV at 50 Hz. Calculate current with the* 

line open cirgritmd *k (06 Marks)
. c. Derive tn6@ssion for a capffi*prnce of the symmetrical3-phase line. (06 Marks)

. 
W # Mndrrro-?$r d. '# Module-3

5 a. Write a short note on claCIpitication of overhead transmission lines. (04 Marks)
b. Determine ABCD conffirgts of medium line nominal T-method and check AD-BC: 1.

w (06 Marks)

The three coqffi]tors of 3-phase lm^ "hrp"brranged at the tlirde corners of a triangle of sides
2nl 2-5m anif-4'.Sm Calculate thE'einductance per,{knfof the line when conductors aree per6*kn$of the line '

conduetors are 1.24 cm
ffioqlr'tir..

c. 4,220 KV,3- oterhead transmission line has an impedance per phase of (20 + J100)0
and admi .0010 mho. Using n-model, determine the sending voltage and current
when the the receiving end is 300 A at 0.9 pf lagging.
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6 a. Discuss Ferranti effect in transmission lines. *ffi* (04 Marks)

ru

Determine ABCD parameters ot the me. - *w & (uo NrarKs,

A single phase transmission line suppffifu8 bad 1 MW at l1JW.8 pf lagging. The

resistance and reactances of the line ardltffi fina tOO respectively. Bffifmine:
r) Sending end voltage ffi d&
iii) Percentage ofregulation 6q3r ffi (06 Marks)

m'%# *",,/
d&,w/n $P Modute-4 , *,,,'"

lp$dud"artusts- 
tffiF

b. A 3 phase 300 km long transmission line has 
^ff 

W 
*

InductancelPh= 10-'[Vkm u '{#.
CapacitancelPh: 10 x 10-e F/km 4d**
Resistance/Ph: 0.02 Qlkm mh*/
Determine ABCD parameters of the line. ^ dY;' e* (06 Marks)

7 a. Discuss the advantages ffiflisadvantages of Coronq@ (04 Marks)

our wire system.

158843

(04 Marks)

ion. (04 Marks)
takes place if the

at which insulation
.Assume6:1,

(06 Marks)
3-phase system.
is not be exceed

(06 Marks)

(04 Marks)
(04 Marks)

b. Prove that for a 3 layffiffi sheath ffi*P
g.* (with intmsffith) 

= -l ^ *h.re# t, 
= 

t, 
= \ . (08 Marks)max \ vvrou *!M'#vs!r1, _ __: " WhefeCf = 

jl- 
= 

'z -'- . (08 Marks)
gfi(withoy6$pffiheath) l+cr+o'm r t 12

c. A sinele core*pffie has a diameter of/t&m covered with an insulation layer of 2 cm

thickn-ess fl{h{oicifrc resistance of insuTffi?on of the material is 7.5 x 10t2 MCr-m. Calculate

E.* (*ittorgipffifreath) 1+cr + cr2

8a.
b.

l,lnd aBo me ffiBu orameter or tne msu[auon lr me peaK

60 KV/crn %l q d

nom

WU
irgbffi
qffitio

,ri"
..,,-,-,'}*

qffiP., tr
r p@ffnNslb

For most econoffil diameter of singlemoffi cable to be r6ffin a 132 KV,
Find also the ffirll diameter of ths"ffiWffition if the peak pbrtnissible stress

is fed at point A and it is loaded as follows:

ing at 500 mx&omA.
reactanc e distributor are 0.2 O and 0.1O per km respectively.

voltage is find the sending end voltage and power factor.
(08 Marks)

(04 Marks)
(06 Marks)

(06 Marks)

,l**,1.*

2 of2

ffiction of neutraLin
B is 500 m lonffi
200 m fromffi'

The total resi
If the

10 a.

b.
c.

ffi
M1/

ff

*fu oR
Discuss the limitatio, ffirtriUrtion system.
Write short note on radial'and ring main distribution systern
Explain the folloQrdwith respect to distribution system:

r) Reliabilitpffi
ii) Quality tumll"

@
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